I # & & X

NELE H= 2.5 m
BABSETEI(mYY) THHEX
HESH
EE O 150
H EHIRELR = 2.35m 2.5
H' :2.35-0.0 = 2.3 m(FEZER 0.0 m
W R I e = 0.90 W1 B B0
R 0.28 mfNy ok
D AvykEERALYRHIELE = 50 nY/A
T NwoR9100m3Y v EERRER] = 6.5 hr/m3
Q Ny HRDIBY Y EERRER 3.8 hr/B

@ BIARTE BH=1EHI B2 (a) +/3RILEABH (b)

(@ =WxH’" x15mx (1/D)
=0.90x 2. 350 x 15 x (1/59)
=0. 54

(b) 10m&Y 1.3 EfE
1.3x (15 /10" x (1/3.8)
=0.51

(a)+ (b) = 0.54+0.51 = 1.05
@ EHMEAHK
(@ hxw = 0.10  x0.90=0.09 m
F&H&Y 33n°/8
(0.09% 15m).~ 33 = 0.04

® EMHRMEEH
(a) & WO 150 0.021

Tk Y 0.021 (A/m)
15m x 0.021 = 0.32

@ ERBEH - BEEAK () + #RERBEHK©b)
0.165 0.37

(a) FhEME= (0.90%0.37-0.165 2x /4~ 0.09 ) x15"733 =

(b) #BRL= (62.7 ™/41.0 ™ x15"x (1/33) =
[BRIE] [HRER]

(a) + (b) = 0.10 +0.70 = 0.80
® BRFTERH
THLY 10mz Y 0.14 H
0.14 x (15"/10" = 0.21

0.10

0.70

1.1 8

0.1 8

1R/ (15m) LY TFER

0.8 H

B A FEAY
@ EAEHI 18| | =] |
@ % 01|l i O1H
® B 03|l |
! 0.18 ;028 .,
@ 2R o8| i 08 H |
® 313k 0.2 A 0.2E||
KEBEH 148l | W] ;
IR 208 [ 2.0 H
I UR—ILEET B
i =E - ERTH
187 vh—iL (H=3. 0L F) 0.25 B x = 0.0 H
" (H=3.0~4. 0L F) 0.26 B x = 0.0 B
05 - A< ER—L  (H=2.0LLTF) 0.20 @ x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 8
EETUR—IL (H=0.0~3. 511 F) 0.09 B x = 0.0 H
LOVINIToR—)L  (H=1. 0LF) 0.10 8 x = 0.0 8
" (H=1.0~1.5L4F) 0,12 B x = 0.0 B
" (H=1.5~2. 0LLF) 0.14 8 x 1.0 = 0.1 8
" (H=2.0~2.5LLF) 0.16 B x 1.0 = 0.2 8
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3.5LF) 0.20 B x = 0.0 B
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
BIE% &t 0.3 8
T BRI 41.00m / 15.00 m 2.7 @ 2.7 @
KEBFREK
AKEITBE#H ( 1.48 x 41.00m 15.00m + 038 ) x 1.0 = 418
TEZER. 0, BBF1. 4
4.1 H
TEBETAK 208 x 41.00m 15.00m + 0.3 8 = 5.8 A 5.8 H
TIRBEY
TREHNAHK 588 x 1.4 8.1 8 8.1 8




T 8 =
SHLE K 30 m

BAMS LRI (ImYY) THHEER
HEEM

EE © 150
R RAIER
12.54 -0.0
R A 1R

2.54 m

STz

R 0.28 n’fiy Ry

D N\wYRDEERAL YIEEIERE = 59
T ANwZHRD100m3Y Y EEnpERg = 6.5
Q Ny IR IES Y B 3.8

@ BIARTE BH=1EHI B2 (a) +/3RILEABH (b)

(@ =WxH’" x15mx (1/D)
=0.90x2.540x 15 x (1/59)
=0. 58

(b) 10m&Y 1.5 FfAE
1.5x (15 /10" x (1/3.8)
=0.59

(a)+ (b) = 0.58+0.59 = 1.17
@ EHMEAHK
(@ hxw = 0.10  x0.90=0.09 m

F&H&Y 33n°/8

(0.09x 15m)~ 33 = 0.04

® EMHRMEEH
(a) & WO 150 0.021

TH&Y 0.021 (A/m)
15m x

@ ERBEH - BEEAK () + #RERBEHK©b)
0.165 0.37

(a) FyEHE= (0.90x0.37-0.165 2x 7/4- 0.09

(b) #RL= (20.5™/12.0 ™ x15"x (1/33) =

[BRIE] [HRER]

(a) + (b) = 0.10 + 0.78 =
® BRFTERH
THLY 10mz Y 0.16 H
0.16 x (15"/10" = 0.24

2.54 m(FERE
0.90

0.021 = 0.32

=

3.0
0.0 m)
Wi R BEIE

m’/ 8
hr/m3
hr/8

) x15"733 =

0.88

0.10

0.78

1.2 8

0.1 8

1R/ (15m) LY TFER

0.9 #

B A FEAY
@ BAEHI 1.2 8| | 1.2 8 ]
@ % 01|l i
® B 03|l |
! 0.18 ;028 .,
@ 2R 09| o i 09 H |
® 313k 0.2 A 0.2E||
KEBHK 158 | 1.5 8 ’
IR 2.2 8 [ 2.2 H
I UR—ILEET B
i =E - ERTH
187 vh—iL (H=3. 0L F) 0.25 B x 1.0 = 0.3 H
" (H=3.0~4. 0L F) 0.26 B x = 0.0 B
05 - A< ER—L  (H=2.0LLTF) 0.20 @ x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 8
EETUR—IL (H=0.0~3. 511 F) 0.09 B x = 0.0 H
LOVINIToR—)L  (H=1. 0LF) 0.10 8 x = 0.0 8
" (H=1.0~1.5L4F) 0,12 B x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2.5LLF) 0.16 B x = 0.0 A
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 8
" (H=3.0~3.5LF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
BIE% &t 0.3 8
T BRI 1200 m / 15.00 m 0.8 [ 0.8 [
KEBFREK
KEITBE#H%H ( 158 x 12.00m 15.00m + 038 ) x 1.0 = 1.5 A
TEZER. 0, BBF1. 4
1.5 8
TEBETAK 228 x 12.00m 15.00m + 0.3 8 = 2.1 8 2.1 8
TIRBEY
TREHNAHK 218 x 1.4 2.9 8 2.9 2




T 8 =

RELE H= 20 m

BABSETEI(mYY) THHEX

HEEH

EE O 150

H EHIRELR = 1.85 m

H :1.85-0.0 = 1.85 m(FWRE

w o CE Bl 68 = 0.9
R 0.28 mfNy ok

D Ny ORDEGRELVIBHEEE - 59

T Ny o RY100m3Y Y EmEER  = 6.5

Q Ay ERYIBY Y BB 3.8

@ BIARTE BH=1EHI B2 (a) +/3RILEABH (b)

(@ =WxH’" x15mx (1/D)
=0.90x 1. 850 x 15 x (1/59)
=0. 42

(b) 10m&Y 1.1 B
1.1x (15 /10" x (1/3.8)
=0.43

(@) + () =0.42+0.43 = 0.85

@ EHMEAHK

(@ hxw = 0.10  x0.90=0.09 m
F&H&Y 33n°/8

(0.09% 15m).~ 33 =

@ ENRIEAH

(a) & WO 150 0.021
TH&Y 0.021 (A/m)

16m x 0.021 = 0.32

@ ERBEH - BEEAK () + #RERBEHK©b)
0.165 0.37

(a) FyEHE= (0.90x0.37-0.165 2x 7 /4- 0.09

(b) HBREL= (73.1 m/68.0 m xqi5nx (1/33) =
[BR1tE] [HER]

@ + b = 0.10 + 0.49 =
® FIRFERK
THEY 1Y 0.12 ©

0.12 x (15"/10" = 0.18

=

2.0
0.0 m)
Wi R BEIE

m’/8
hr/m3
hr/8

) x15"733 =

0.59

0.9

0.1 8

1R/ (15m) LY TFER

0.6 A

B A FEAY
@ BIAEHI 0.9 B [ 0.9 H |
@ % 01|l i
® B 03|l |
! 0.18 ;028 .,
@ 2R 068 i 06H |
® 313k 0.2 A 0.2E||
KEBHK 128 | 1.2 B ’
IR 1.6 H [ 1.6 B
I UR—ILEET B
i =E - ERTH
187 vh—iL (H=3. 0L F) 0.25 B x 1.0 = 0.3 H
" (H=3.0~4. 0L F) 0.26 B x = 0.0 B
05 - A< ER—L  (H=2.0LLTF) 0.20 @ x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 8
EETUR—IL (H=0.0~3. 511 F) 0.09 B x = 0.0 H
LOVINIToR—)L  (H=1. 0LF) 0.10 8 x = 0.0 8
" (H=1.0~1.5L4F) 0,12 B x = 0.0 B
" (H=1.5~2. 0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2.5LLF) 0.16 B x = 0.0 A
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 8
" (H=3.0~3.5LF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
BIE% &t 0.3 8
T BRI 68.00m / 15.00 m 4.5 @ 4.5 [@
KEBFREK
KEITBE#H%H ( 1.28 x 68.00m 15.00m + 038 ) x 1.0 = 578
TEZER. 0, BBF1. 4
5.7 8
TEBETAK 1.6 B x 68.00m 15.00m + 0.3 8 = 7.6 B 7.6 B
TIRBEY
TREHNAHK 7.6 8 x 1.4 10.6 B 10.6 A



I # & & X
NRRLE H= 2.5 m

BAMS LRI (ImYY) THHEER
HEEM

EE © 150
R ERAIER
12.13-0.0
R A 1R

213 m 2.5
2,13 m(FHR 0.0 m
0.90 W1 E B0

STz

R 0.28 n’fiy Ry

D N\wYRDEERAL YIEEIERE = 59 m/8
T w9 ERD100m3Y Y EEREERT = 6.5 hr/m3
Q Ny Y RDIBH Y B 3.8 hr/A
O BAFEAK-EAIB %K (a) +/3RILEA B (b)
(@) =WxH' x15mx (1/D)
=0.90x2. 130 x 15 x (1/59)
=0.49

(b) 10m&Y 1.3 EfE
1.3x (15 /10" x (1/3.8)
=0.51

(@) + () = 0.49+0.51 = 1.00

@ ERFEAH

(@ hxw = 0.10  x0.90=0.09 m

F&H&Y 33n°/8
(0.09x 15m) .~ 33 = 0.04
Q@ BHEMEAK
(a) & VO 150 0.021

Tk Y 0.021 (A/m)
15m x 0.021 = 0.32

@ ERBEH - BEEAK () + #RERBEHK©b)
0.165 0.37

(a) FhEME= (0.90x0.37-0.165 2x 7 /4- 0.09 ) x15"33 =

(b) HBREL= (31.9 m/21.7 m xi5nx (1/33) =
[BR1tE] [HER]

(a) + (b) = 0.10 + 0.67 = 0.77

® BRFTERH
THLY 10m4 Y 0.14 B

0.14 x (15"/10" = 0.21

0.10

0. 67

1.0 A

0.1 8

1R/ (15m) LY TFER

0.8 H

B A FEAY
@ BAEHI 08| | 1.0 8 ]
@ % 01|l i O1H
® B 03|l |
! 0.18 ;028 .,
@ 2R o8| i 08 H |
® 313k 0.2 A 0.2E||
KEBHK 138 | 1.3 H ’
IR 1.9 H [ 1.9 8
I UR—ILEET B
i =E - ERTH
187 vh—iL (H=3. 0L F) 0.25 B x = 0.0 H
" (H=3.0~4. 0L F) 0.26 B x = 0.0 B
05 - A< ER—L  (H=2.0LLTF) 0.20 @ x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 8
EETUR—IL (H=0.0~3. 511 F) 0.09 B x = 0.0 H
LOVINIToR—)L  (H=1. 0LF) 0.10 8 x = 0.0 8
" (H=1.0~1.5L4F) 0,12 B x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2.5LLF) 0.16 B x 1.0 = 0.2 8
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3.5LF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
BIE% &t 0.2 A
T BRI 21.70m / 15.00 m 1.4 @ 1.4 @
KEBFREK
AKEITBE#H ( 1.38 x 21.70m 15.00m + 028 ) x 1.0 = 2.1 8
TEZER. 0, BBF1. 4
2.1 8
TEBETAK .98 x 21.70m 15.00m + 028 = 2.9 8 2.9 8
TIRBEY
TREHNAHK 298 x 1.4 41\ 4.1 8




T # E T X (BEEXR @EHE) 1Z/82 (4m) HY TR

KRR H= 20 m
FEMAXREALBI nY YY) THEER _
HEEH | B FEB#%
EE © 100
H EHIRELR = 1.77 m [OF =378 1.1 0.2 B [ N - R
H :1.77-10.0 = 177 m(PEZE 0.0 m i '
W iR M 6B = 1.00 Wi CE B iR = 1.00 : ;
R 0.28 Ny ok : :
D Ay RIBEALVIEAEXE = 59 w’/B ' i
T Ay RDEERA Y Y EERER = 6.5 hr/B Q EmE 0.1 8 '
Q NI RYIBELYLIE 9.1 m/hr !
@ BAFTE B H=-1EHI B (a) + X iRE2A B (b) @ BR 0.2 B |
(&) =WxXH’ x4mx (1/D) , K
=1.00x 1. 77 x4 x (1/59) ® Blik 0.1 8| ! 0-1-H:
=0.12 ; ; !
(b) 10m¥% Y 1.1 B fs KEBH 0.3 8 It-:-:-:-:-:-:-:-:-:-:-:-:-:0;3:E-:-:-:-:-:-:-:-:-:-:-:-:-:-I 5
1.1x (4 "/10" x (1/6.5) ! !
=0.07 7 y
HEIE% 0.4 B [Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-ZO_Z4ZE[-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-
(a)+ () =0.12+0.07 = 0.19 0.2 8
@ EMBMEAH
(a &®E ©100
FTH&Y 0.017 (A/m)
4mx 0.017 = 0.07 0.1 8
@ BERBH
BEL=( 6.2 ™/ 47Mm x4 (1/33) = 0.16
[BERLE] [HRER]
T REAER 470m /  4.00m = 1.2 @ 1.2 @
KEREK
0.2 8 KEIBHE ( 038 x 470m / 4.00 m ) x 1.0 = 0.4 B
TR0, 1.4
0.4 B
® BIRFTER#
TEET A 048 x 470m / 4.00m = 0.5 B 0.5 A
THELY IED) 0.12 B
TIRBHRE
0.12 x @/10m = =0.05 TREHBAH 0.5 B x 1.4 = 0.7 8 0.7 B



T 8 E T X (BEEXR @EHE) 1Z/82 (4m) HY TR

KRR H= 25 m
FEMAXREALBI nY YY) THEER _
HEEH | B FEB#%
EE © 100
H EHIRELR = 1.88 m [OF =378 1.1 0.2 B [ N - R
H' :1.88-10.0 = 1.88 m(PHEZE 0.0 m i '
W iR HI 6B = 1.00 Wi CE B iR = 1.00 : ;
R 0.28 Ny ok : :
D Ay RIBEALVIEAEXE = 59 w’/B ' i
T Ay RDEERA Y Y EERER = 6.5 hr/B Q EmE 0.1 8 '
Q NI RYIBELYLIE 9.1 m/hr !
@ BAFTE B H=-1EHI B (a) + X iRE2A B (b) @ BR 0.2 B |
(&) =WxH’ x4mx (1/D) , K
=1.00x1.88x4x (1/59) ® Blik 0.1 8| ! 0-1-H:
=0.13 ; ; !
(b) 10m¥% Y 1.3  B5fE KEBH 0.3 8 It-:-:-:-:-:-:-:-:-:-:-:-:-:0;3:E-:-:-:-:-:-:-:-:-:-:-:-:-:-I 5
1.3x (4 "/10" x (1/6.5) ! !
=0.08 7 y
HEIE% 0.4 B [Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-ZO_Z4ZE[-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-Z-
(a)+ () =0.13+0.08 = 0.21 0.2 8
@ EMBMEAH
(a &®E ©100
FTH&Y 0.017 (A/m)
mx  0.017 = 0.07 0.1 8
@ BERBH
#BEL=( 6.6 ™/ 47Mm x4 (1/33) = 0.17
[BERLE] [HRER]
T REAER 470m /  4.00m = 1.2 @ 1.2 @
KEREK
0.2 8 KEIBHE ( 038 x 470m / 4.00 m ) x 1.0 = 0.4 B
TR0, 1.4
0.4 B
® BIRFTER#
TEEIAH 048 x 470m / 4.00m = 0.5 8 0.5 A
THELY IED) 0.14 B
TIRBHRE
0.14 x @/10m = =0.06 TREHBAH 0.5 8 x 1.4 = 0.7 8 0.7 B



